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Q.No.1:

Q.No.2:

Q.No.3:

a.

C.

a.

C.

e.

g.

Write down the SYNONYMS of the following words. (20)
Lucid b. Ancestor
Admonish d. Solace
Loathe f. Witty
Convict h. Foe
Victim - Mighty
Form ADJECTIVES from the given words. (20)
Reach b. Accept
Achieve d. Bear
Depth f. Access
Region h. Beauty
Magic - Pack
Fill in the blanks with PREPOSITIONS from the box. (20)

U

on, in, to, with, across, beside, behind, by, for, until

a.

He ran away life.

They dry fish the sun.

He drew a line

He is sitting

He is obsessed

He was put

Don’t move

the page.
this mother.
his project.
bars for three years.

| tell you.

There was a big home the roadside.

Japan is located the east of Bangladesh.

He is our committee.

=LAl

(15) we A L2 2 700S £ crr e sl d D12 o527 AU
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Q. No. 4:

Q.No.5:

Fill in the blanks using “a”, “an” and “the” as may be suitable.

> a =~

Do as

(10)
He was first man to arrive.
French is easy language.

sun shines brightly.

He can play guitar.
Who is girl sitting here?
A cow is useful animal.

honest person is liked by everyone.
obedient student should obey his teachers.

He looks as stupid as owl.

I methimat __ Church.

directed. (20)
Does she you? (Use correct form of “know”)

We (clean) our bottles, so we could use them again. (Use correct
form of the verb)

We buy new books. (Change into simple past tense)

If he apologizes, he will be pardoned. (Use: Unless...)

Ali does not have an air ticket. (Change into positive sentence)

A robot will be able to replace a dog.(Change into interrogative
sentence)

You will have heard the news. (Change into interrogative sentence)

Neither John nor his friend to blame. (Use: ‘is’ or ‘are’)

He passed the examinations. He got a gold medal. (Use: not only...’)

He helps his father in his work. (Rewrite in simple past negative)




Q.No.6: Change the following sentences into passive voice. (10) (10) _uf“”,,égﬂ,g.tfy,,:zz/d,,

a. Somebody stole my keys yesterday.
Zf‘/yl: 5@
b. How do they make butter? F 1
> 2
C. They have painted the door. e 3
- 4
d. Hina is washing the dishes. 5 5
. . ,) & 7
€ Are they serving the dinner- (5) -u:‘l u:"z,“ﬂ(.,uz;mwu/ u‘Uruf".,"HK.:,t;;l;'stée}wuu“ﬁﬁﬁ/dly
Q.No.7: Complete the sentences by supplying the correct degree of @HK _,HK J!HK
adjectives. (20) ‘f . J
U5 ol
a. Prevention is than cure. (Good) tr s
b.  Heisthe boy of the two. (Bad) S g
c.  The publicis the judge. (Good) s &%
d. Silver is than gold. (Light) s . )
(10) 2o nl o N S YT IEASEURL AU sl sl B 50924 4 iy
e. Iron is than any other metal. (Useful)
. . & A/ LB
f. Malacca is the town on Malaysia. (Older)
Cae Zs
g. The Mango is than the pine-apple (Sweet)
h. My uncle is than my father. (young) L"?H@
I The Nile is the river in the world. (Long) s
J- This is the that | can do. (better)
T
Sty
21



Translate the given sentences into English. (10)

-ugz_j»uﬁfuﬁubfu_j}f.a

-uiguég—“/ﬁﬁ%—:ugﬂ b

-Zi bgo L—/C{‘ .C

_uj ~lp&l)ﬂj%¢¢yzal/ d

ZU}’Z%T@L{’ e

Q.No.8:
(10) LS L rer s LF LC0E:19 4y
e e
Nd P Sy A S
g 78S gu‘?z“ 2
oyl P Jos (7 N gr
:‘aﬂglﬂ/bl??)li.o}’" 3
(9 15b s bl eAph e Lok
e Lo 4
e e G o b ol
el -5
S s vale: S e &
(10) o L0202
i e Q.No.9:
193 1
£ 2
S 3
vy 4
Py 5
(10) _uf"id)wéwweﬂ:ﬂ/‘)v
ol oH]
bl 1
sl 2
20 3
P 4
= 5
20

Translate the given sentences into Urdu. (20)

a. You will have to read this book.

b. She recognized her friend in the train.

c. The match had not ended before it began to rain.

d. She died of fever

e. When was Ali being asked this question?




Q.No.10: Write a story in the given space based on the prompt / sketch / picture

and give it an appropriate title. Use the given space only to write your story. (20)

Plot 2
Diction 1
Language 2

Character| 2

Suitable Title: (2)

Ali is the only child of his parents. One day he sat down for studies but...

Lesson /Moral: Q)

PART-III

URDU & ISLAMIYAT

(100 MARKYS)
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PART-II
MATHEMATICS & GENERAL SCIENCE

b. Define Ecosystem. Enlist the components of Ecosystem? (3) (100 MA RKS)
?u:“'ﬁrcé CS g T YIS [l ol TN
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Vi.

Vii.

viii.

MATHEMATICS (75)
Question no. 11: Encircle the correct option (15x1 = 15)
uféofi;;ja':b/lﬁuui 1 lﬁ'zdb’

If A={1,2}and B = {a,b},then ANB =
4xANB »iB = {a,b}»4 = {1,2})1 i

A. {1,2} B. {a,b} C. {1,2,a, b} D. {}
A'UA=
A. U B. 9 cC. A D. A
e 2. .
The additive inverse of - is: —9vnuﬁ’d€{§ i
A =2 B. - c. = D. -2
3 2 3 2
1.1
3 2 T
A= B. - c. 2 D. 2
5 5 6
E - (_ i = .
5 5)_ — ‘atn“b;gj"/();if_'}'i/ui/d/lﬁﬂ/(ﬂ//ﬂ VI
A - B. - C.-: D. 2
5 6 2 6

If we round off the decimal 3.7461 up to two decimal places, we get:

ctn Sb J g e F 1 537461 S AN i
A. 374 B. 3.7 C. 3.84 D. 3.75

When we change 0.25 to the rational number, we get:

con Sb I oS den oo Fr 0258 2 wil

1 1 1 1
A. - B. - C. - D. -
2 3 4 7
(30 + 20) + 70 =7
7 1 5
A. - B. - C. - D. 2
5 2 7
a™ = q" =?
m
A amtn B. a™ C. aqm ™ D. an
8

b.

How is pressure of water created in a service station? (3)

- AT KL I e

Question No18: Write answers of the following questions.

a.

Write Impurities of water.

-uﬁ”’i ;Jw%t;’dﬁg )

17



X.  The blood vessels which supply food and oxygen to the heart are called:

= = s . . 7 - X. X. Which of the following is not a perfect sgiiare?
Qe S A SIS Dz o mS s ,
g D Lauﬁ’@/‘f‘(vu/c—uﬁ«b»?/ﬂ DX
A. Sub clavin arteries (47645 B. Coronary arteries(;/,75..5) A. V16 +9 B. v25+9 C. V16 +9 D. v25-9
C. lliac arteries(;/.7_&) D. Pulmonary arteries(; 275+ _ _ )1 ,
. : : Xi. Xi. / == .
Xi. Bacteria and fungi are R S, jlg.:xii 4
A. FertilizersG¥) B. Decomposers(;ss?) A 0-15 B.15 C. 105 D. 0'915 B
C. Autotrophs(*s 1 D. None(u s Xii. xii.  When we convert 36km/hr into m/sec, w %tﬂ&bcL/&fQﬁﬁ?dﬂ[ﬂdﬂﬁ36l Xii
Xil. A disease in which a person has high blood: sugar L‘?%Glz/iéﬂ{(f(d:cﬁd/%&!—:xiii A. Im/sec B. 5m/sec C. 10m/sec D. 20m/sec
A. Asthma (.») B. High blood pressure (2 44y xiii. Xiii.  If2:5=x:20,thenx=____ Enlx F22:5= x:20 01 i
B. Angina () D. Diabetes  (U*1) A 50 5 2 c % D. 8
Question No17: Write answer of the following questions. (3+3) XiV. xiv.  The factors of a2 — 9 are: urdpetal a’-9 - Xiv
et S i S s s s e A (a+3)(a-3) B. (a+9)(a-9)
a. Compare transverse waves and longitudinal waves. C. (a —3)(a—23) D. (a—9)(a—9)
XV. xv.  Areaofacircle = &L ST X
A. nr? B. 2nr? C. 3nr? D. 4nr?
Question No. 12: (8+7)
Prove that SuS e Ay

. G < G0) = Go) < 5)

16 9



3 17 3 1 7

5+(2+10 — 5+2 +1o iv
V.
Vi.
Vii.
viii.
iX.
X.

10

Question No. 16: Encircle the correct Choice.

Isotope of Deuterium is denoted by:

GENERAL SCIENCE (25)

(13)
'3%’2.:4?’L/(&"/~":/'(73i

B. Total internal reflection (J«ﬂu’ s
D. Refraction of light (% 2.8 )

We see a mirage due to the:

A. Reflection of light (%45
C. Dispersion of light (&5

In a vacuum flask, the vacuum prevents the transfer of heat by:

e G B U E st L i
A. Conduction (.*) B. Radiation (¢*i5%,) C. Convection (c*¢+) D. Mixing (&%)

When there is more than one path for a current to flow, the circuit is called:

—Z,Lt’Uv/uun"L!/uL)LufﬂﬁcuL&/uﬁf&'//u:iii

B. Open circuit(e )
D. Closed circuit(=”, /J‘(v)

A. Series circuit(<" % 2)
C. Parallel circuit(e”~J1)

-:‘aéthwJWJb’,i/Téé}gj:iv

A. 1H3 B. 1H* C.1H? D.1H?!
Which catalyst is used in hydrogenation? _:Lrndvp,u:%’/ﬁgkﬁfuﬁv
A. Pt B. Ni C.Cd D. H2
Mass of an atom depends upon: . i .

P P +rn/ufrgutéﬁr,g:V|

A. Electron (u) B. Proton (usy) C. Neutron (u/¥) D.A&C
First shell of an atom is: ?‘LL"MJfo;K(":I:Vii
A. K B.L C.M D.N

< Gad 43w
A. Reactant into product (te/h/e46.)  B. Product into reactant(gse:s./ e by)

C. BoOthA&B  (cusiiiuss) D. None (U4 utw)
A group of tigers living and reproducing in a forest is an example of:

+J@J~LW”/ZTJJ&U}I‘LL}/U:J{}'JZ?U/VQKU’EZiX

o e .

Reversible change converts:

A. Community (§ =) B. Ecosystem(/~£i) C. Population (J# )
The part of plants that forms seed is called:

D. Habitat(*s=)

g.t‘ll-zv’/uct-li‘&@.ﬂ?ﬁgc;g:x

A. Stem(&) B. Leaves(z) C. Fruit(%) D. Flower(/J»)

15



Question No. 15: Question No. 13: (7+8)

The length and breadth of a rectangular swimming pool are 243m and 27m respectively. a. simplify =)
Find the length of a square shaped swimming pool which has the same area as rectangular 17 8 -
swimming pool. (15) (__3) . (__3>

10 “\10

e LB LR KT KA G QU Iy e LG poe 227 2283 2 A5 03U S U g B L F B

4
b.  Prove 24+ 7% = (—) U et

11 14



Question No.14: (7+8) b. Factorize following using identity EATImE s
a. A mason can repair a 744m long track in 24 days. If he repairs 589m track, then find 4 5 9 5 ) T
how many days will he take to repair the remaining track? §x — Xy + Ey

Los 230 S, “é(,l”?%@/ e pdznd 2 OA%s) 1_905/ e IS s 0 1y L
?KG/(JIUZ,MU}?;

12 13



